b.S Using transformations to sketch the Graphs of Sinusoidal Functions
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1. Create a graph of the function ¥ = 3sin (x — 607) + 1 for two cycles. (Mell‘bd Z)
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2. Create a graph of the function V= ) CUS[E (x-30° _.|i| ~2 for two cycles
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wWIT TEST (fkeur)
b) sin(-210°) = Sll"\ (-2|0+ 360)

== =5 (150°)

3. Given 6 is a principal angle in the second quadrant, and siné = % , write the exact

values of cose and tane 3 marks
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Application

5. Arescue boat travelling at 8 km/h departs from Port Stanley towards an island ata
bearing of 235°. At the same time, a cruise ship travelling at 5 km/h heads out to sea

from Port Stanley at a bearing of 125°. After 2 hours how far apart (to the nearest
tenth of a kilometre) are the rescue boat and cruise ship? (inciude a labeiled diagram

in youn;jaluffon) 4 marks
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6. Point C in the diagram below represents the centre of a circle with radius 18 m.
Calculate the length of line segment PQ to the nearest tenth of a metre. 5 marks
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1. Given the triangle shown below, explain what value(s) of a would allow:
a) 0 triangles, b) 1 triangle, and c) 2 triangles to be drawn.

4 marks

2. Explain the situations where the Sine Law must be used to solve a triangle. 3 marks
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